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1. BEEROI
(1) BE NI
EARIEERS [ 01|l 01|l 2,400 1|[ 2,400 ]
HEARMEZRAR 0 0 2,400 2,400
WEEEERS [ 6,213 1|[ 01|l 01|l 6,213 ]
HEEEZRAR 6,213 0 0 6,213
ZTHM=E [ 513,500 ]|[ 01|l 513,500 ]|[ 1,027,000 ]
S EZHREE 513,500 0 513,500 1,027,000
Ex e [ 218,545,520 1|[ 01|l 01|l 218,545,520 ]
SZEEEIRE 14,106,000 0 0 14,106,000
R E B Z A EEINE 140,000,000 0 0 140,000,000
M &% FI A FHIR R 53,569,390 0 0 53,569,390
BEEFEINE 10,870,130 0 0 10,870,130
ZHHBEE [ 91,382,200 1|[ 01]L 1,255,000 1{[ 92,637,200 ]
ZEURFATEEE 90,520,000 0 1,255,000 91,775,000
ZHREFERR—ViIGSHEIE 199,200 0 0 199,200
ZMAR—VIRECERkE 663,000 0 0 663,000
ZHREHEE [ 1,207,150 1|[ 01|l 01]L 1,207,150 ]
ZHAEE 1,207,150 0 0 1,207,150
MU [ 1,023,480 1|[ 7,137,966 1|[ 100 1][ 8,161,546 ]
HUNEE 1,023,480 7,137,966 100 8,161,546
BRIt 312,678,063 7,137,966 1,771,000 321,587,029
(2) BREEHR
EE S [ 318,344,580 1|[ 1,921,851 1|[ 01ll 320,266,431 ]
WEFS 64,774,549 0 0 64,774,549
fRREES 18,071,780 0 0 18,071,780
BHELE 17,235,848 0 0 17,235,848
BEHAHE A 2,150,000 0 0 2,150,000
REXAE 1,981,425 0 0 1,981,425
BIEERE 2,370,006 270 0 2,370,276
FimENE 889,390 0 0 889,390
HEASRERE 889,240 0 0 889,240
HERE 13,526,276 9,152 0 13,535,428
BiEE 34,217,780 0 0 34,217,780
)N 1,499,835 0 0 1,499,835
REE 1,068,792 0 0 1,068,792
FEBKHE 35,809,697 1,332,429 0 37,142,126
FRAMRUEREH 10,724,255 0 0 10,724,255
REEF 859,328 0 0 859,328
s 4,147,500 0 0 4,147,500
HHAER 2,824,300 580,000 0 3,404,300
b&/N-Fizk o 1,389,178 0 0 1,389,178
XILBIRE 17,321,000 0 0 17,321,000
X FER 3,255,944 0 0 3,255,944
RitE 82,566,276 0 0 82,566,276
IREZE 670,000 0 0 670,000
REE 82,181 0 0 82,181
HE 20,000 0 0 20,000
THE [ 01|l 01|l 1,264,314 1|[ 1,264,314 ]
et e ] 0 0 601,766 601,766
BHELE 0 0 100,648 100,648
=& 0 0 50,864 50,864
REXAE 0 0 168,500 168,500
BIEEWE 0 0 13,032 13,032
HEERE 0 0 308,504 308,504
HE 0 0 21,000 21,000
EEERH 318,344,580 1,921,851 1,264,314 321,530,745
LHRIR R AE 5,666,517 5,216,115 506,686 56,284
2. BESMEBOIR
(1) BES IR
FESUREEET 0 0 0 0
2) BENER
ZFENER 0 0 0 0
LERRRE S AR 0 0 0 0
th &= £t 4 25 5] 25 HA — A% 1F BR B4 EE 1 RER A5666,517 5,216,115 506,686 56,284
th =&t iR %8 5,208,528 5,208,528 0 0
T 5 | AT 21 2 — AG 1F TR B B 18RI AR A457,989 7,587 506,686 56,284
EAEL EEBRRUEER 0 80,000 0 80,000
L 5 — AR IF DR BA EE SRR A457.989 A72413 506,686 A23716
— AR FRBAEE i R = 40,982,347 1,366,087 15,110,255 57,458,689
— e P CRBABE HAR IR S 40,524,358 1,293,674 15,616,941 57,434,973
I 5% IEBREAE R D SR
L HA 35 °F IF DR BA EE HE R AR 0 0 0 0
BEIERIAES RS 0 0 10,000,000 10,000,000
e IECREAEEHIR IR S 0 0 10,000,000 10,000,000
I FHREIESHEES 40,524,358 1,293,674 25,616,941 67,434,973




